In (L¥/L* ) CIELAB lightnessL* normalized  [llog (AY/AY,) CIE tristimulus value difference
23410 Lgx to the background lightness.*, DAVIDY, AY normalized toAY,

2 =S -t (¥,=100, s=116, n=(1/3), t=16) (14| 24 1000*=116(Y/Y, )1’37 16 (Y;=100, 1< Y < 100) [1d]

=1 (YY) =t (Y4=18, r=(Y,/Y,)" = XX,X1) [1c] dY = (3/116) (Y/Yn) [2d]
dy=a- (Y/Yn) [3d]
dy = b (Yrvy)*? [4d]

1 0,693 1410 5= 0557 b = 3,826 5

. 0,489
R Y,=18, dY,=0,83, €IY/Y,)=0,045 ,e°
In [(L*/L*)]=0, m;=1,00 " Iog[(dY)/(dYu)]] 0, m;=0,66 .
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LA application . ' application
R range —0,84'3’ . ra?r?ge
. 0,1 1 ¢ 10 1Y,=18100y o 0,1 « 10 'Y,=18100y

- -1 0 ¢ 1 2 logY - -1 0 1 2 logY

hec50-1a hec50-2a
log [(AY/Y) I (AYlY),]  CIE Y sensitivity log[(Y/AY) / (YIAY),)]  CIE Y-based contrast
S/Su=AYMIAYY), Nnormalized to AY,/Y, CIC=(VIBYY(VIAY), normalized to Y, /AY,,

24100 %= 116(Y/Y,)"® - 16 (Y,=100, 1< Y < 100) i || 24200% = 116(v/v,) Y3 - 16 (Y,=100, 1< Y < 100) [hl
dY/Y= (3/116) (YY) ?° [2f] vidy = (3/116) Y, "% (2]
dyiy=cy ¥ 13 YidY = e (YIY)2" [3h]

g avv= d-(Yryy) e @i | ), viav= (YY) [4h]
€=0,120 d=0,824 (5] e = 833,048 f=5721,613 5

.. L* =50, Y,=18, dY,=0,83, {f/dY,)=22 0,244
10g[(dY/Y)/(dY/Y)]=0, me==0y3, | logI(Y/dY)/(YIdY)J=0, m,=0,33 -
RE Ty PR RS rrrlll [ S et TS D Lri—
, “® range e . application
. ' range
. 0,1 1 10 'Y,=18100y o 0,1 1 10 'Y,=18100y
-2 -1 0 1 2 logY - -1 0 1 2 logY

hec50-3a

hec50-4a

hec50-3n




